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The weight of a 40 Ib bag of fertilizer varies as much as 4 oz from the stated weight. Wiite an ¢ at ute value
inequality and @ compound ineqguality for the weight, w, of a bag of fertilizer. | .
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2. Write an absolute value inequality and a compound inequality for the temperature, 1, that was recorded 16
pbe aslow as 65 F and as high as 87°F on a certain day.
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4, The circumference, ¢, of basketball for woman must be between 28.5 and 29 inches. Write ¢ an abs solufe
value inequality and a compound inequality for the circumference, ‘
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